01-30-25 MDE 61

1.3 Introduction to Functions
1.3.1 Exercises
page43:1, 2,6, 14, 16, 39, 46

ClassPad Workspace
Free calculator emulator website.
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In Exercises 33 - 47, determine whether or not the equation represents y as a function of x.
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6.66
What is the domain of this function?
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Your Name MDE 61 quiz1l Write each problem. Show calculations. No calculator.

1. Plot the point (3, —5) in the Cartesian coordinate plane, and identify the quadrant.

x

‘ (7) -3
&tgj )

2. What is the domain of the relation R = {(0,5), (—3,5), (4,5)}?

Jow‘mm = {6/ -y, LI’}

3. What is the range of R from #2?

Y dv4e = {g}

4. Does R represent y as a function of x? Why or why not?

Yes, no x-value is repeated.

V2x—1 9

5. What is the domain of the functionf(X) — 1
X
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The graph supports our conclusion.
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